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(5. 11-15) : R 721 7% 10 9&3 A, B, C, D, E, |
F,G.H,1LIAd=

st Al ha, Beta AN !
Gamma ﬁﬁm@%ﬂ% | '
(Q. 11-15) : The given graph represents the :

number of users of three Telecom services

Alpha, Beta'and Gamma across e
C.%. E,F,G, H,LJ. ma across 10 cities A, B,

et v ()

Number of opers
oo (in thomegmds)

£
g

o e H
BAlpha S Beta B Gamma VY e0

11. & 59 wied o e Alpha 3R Gamma
= IUITTERATST St e T e 8 0

What is the average number of users of
Alpha and Gamma across all ten cities
together ?

(A)535 (B) 525.5 (€) 547.5 (D) 550

pa—TTL L L

S‘IETD % ws @Y Alpha, Beta ¥

Gamma % Sy w1 HEAT T IE
‘¢ H ush G Beta 3 Gamma %

SRt i EE yqa FE e ? Y
What is the ratio of the number of user

of Alpha, Beta and Gamma together ' |
city ‘D’ to the number of users of Be a

and Gamma together in city ‘T’ 7 '
'LA}EI -11(B) 1:21(C)5:4 (D) 4:

(3. 16-20) : Freffaa TET % B ATES
sy it o A f T S % I
Srfriae YT 7T 99 2023 H w16 ¥ 10 T
Wﬁ%ﬁa‘lﬁmﬁ%ﬂﬁfﬂﬂﬂﬁﬁf{ﬁﬂ%1

(Q. 16-20) : Study the following line graph
carefully and answer the questions given
below :

The following line graph shows the
percentage breakup of students studying in
school from Standard 6 to 10 in the year 2023.

15.
r-l"

12. ¥R B’ # Wh WY Alpha, Beta 3 =
Gamma % 3 pa w vz - frarer & e faefRft < weEm 2200 8 |
T H' H TH T Alpha, Beta 3 Note : The total number of students in the
Gamma & ITARRaIA @1 $O F&I H ;
T B T feha ST e @ 2 5::“’"' i
What approximate percent less are the
total number of users of Alpha, Beta and
Gamma together in city ‘B’ com ed to
the total number of users of Alpha, Beta
and Gamma together in city ‘H ?
(A) 26.67% MB) 21.05% _
(C) 28.92% (D) 35.12% %
13. qﬁa&ﬂgﬁﬁfﬁﬁlﬂﬂﬁetaaﬁtﬁmnm W —
2 3 gyt i et g e 8 7 ~ FIE S W . -
What is the total number of users of er? = - SO
and Gamma across all ten cities together i S
) 11250 (B) 10500 Std.6  Std.7 Std.8  Std.9  Std.10
(C) 11000 (D) 11350 _ .
t 16, T 6 3R wan 9  freme frnfE |
14 m‘A*ﬁAIhaafﬁBeta%qmmu X
- muﬁmﬁaﬁ#%ﬁ@,‘li’ﬁﬂeta_ FW,EﬂTli}ﬁﬁﬁrﬁfﬁﬁ-fﬁ
Gamma 3 T AT TR A HEAT weE & e e hvra st 3 2
: 6
&1 Tepa ? The total number of students in Std-
The number of USCLs pr e Bet?‘ and Std. 9 together is ap;;:-m:4'.imat=:l?rr
together in city ‘A’ 18 what percent O
th% number of users of Beta and Gamma what percentage more than that of the
together in ‘E’ ? (B) 135% total number of students in S;d. (llg]?’fﬂ%
) 85.71% or (A)66% (B)387% (C) 187%
; (D) 120% i e
h (C) 116.67% AR i - =
- 5= i'g"' @ 2-& 3
7 A\

i


https://t.me/uppcs1

-__\_ s _—L.rii_'l

B0 BRI (3R VR a8 8
Tes T - 2
l @ @ LX = Soa ot = L2 i e

T B T 1

17. &1 8
T 0

L ot |-.5 el T T T B —————————
wgH! ) Hel @ " & 3k
AGH! N et G “x + 407 R |
afe Fan 8 3 Far1 0 3 Mt aghnd
& §‘ﬁl &1 120 B, @ Y W HE

The total number of boys in Std. 8 is “x”

(. 2]~25]:Fﬂfﬁﬂﬂ@9fﬁw s
% A1 fo o el % FECA

table carefully and

(Q. 21-25) : Study the o it
e e X |

7

e ]

answer (he queslions BV

s o financing (in
cal deficit and itﬂﬂ e

L It 2

and the total number of boys in Std. 9 is f'miejrﬂﬁlﬂ_"r —y

“x + 407, If the total number of girls in ad s | ferefi ¢ a:,valrrli‘eﬂf Hret/

Std. 8 and Std. 9 together is 120, then ! | Years | 5w/ M“""f “Other |Budget

find the value of “x". Fiscal i Liabilities Deficit

(A) 210 (B) 190 (C)250 (D)270 deftelt] - ——1 o | 073l
> 2015-16) @,}ﬂf% (10925 |"=-

18. a7 3R e 8 § et vl B F | 5016-17) 71350 | At
F 2016-17] 7222 41660 | 232 =
wem o w1 9 e i 10§ e | [ory-is] 77845 | L0 S0 105
ST 1 et FAT o o ot SR 7 [2018-19] 9905 —Lran e T y5755 » | 4343 gy e

arq What is the difference between the total M&W 32TI0% | —— &
number of students in Std. 7 and Std. 8 § [3020-21] 80065 29345 ® @%‘Q )

together to that of the total number of
students in Std. 9 and Std. 10 together ? i ﬁ;qa#ﬁﬁ?ﬁﬂﬂmﬁ@ﬁa&ﬁw

(A) 308 (B)302 (C)r198 (D)415 o psadiiin s
i ' deficit increases
19, af: e 6 1, wreeh & Agiedl G In which year the fiscal ;
e =173, # magm ik year ? il
| 1 1 6 H T ?%E g A) 2016-17 (B) 2015-
@@T’F @ FAEATE A | % E) 2017-18 (D) 2018-19

- If in Std. 6, the ratio of gu}rs 11:;: g_,i;ls is |
6 : 5 and the total number of girls m 2 :
22, T e § TSR 3UR %1 e $e faia

- o4
‘_;fi_f\f Sid. 6 is 50 ]gsg than that of the total :
é:a number of girls in Std. 7, then find the 72 &1 ey fapaar sfawra 8 2
o A ratio of the total number of boys in Std. .
ot qo0  6toStd. 7. The average of market borrowings is
= (A)5:6 (B) 30:47 (C)6:17(D)17:6 - approximately what percent of the total
i) fiscal deficit over the years ?
20. fz 2024 ¥, % 6 w 7 mﬁzﬂgﬂ (A) 9.57% (B) 8.18%
il Bt H1 FE a@ 4 10% ] (C) 9.12% (D) 7.98%
i it w4 Bl 61 e e 8 20% H § .
550 Rerscwlymim o die | 2% 05064 o
Eadl e : 2024 % gy | 23- -16 ¥ 2019-20 W e
T\ :fﬂﬁﬁdﬁfm%ﬂamTW%T g ( ﬁ) %? -
% If in 2024, the total number of student : '
 taM :; t;‘;m'. 3 ?];ir.i Std. 7 is increased by i‘i}“/: Woat is the average budget deficit from
AT ach anc the total number of students the 2015-16 to 2019 i
\ G, 10 i decronead by it nts in -20 (in crore) ? -
i - ed by 20%, then 33+
is the differenc what A b A
number ; erence between (he 1opq] (A) ¥7,493%0% / crore T
r et of students in g, 6 _
Lok gether in 2023 1 e o o and 7 B} ¥ 8,337 U / crore
" number of studeng i gtmdt JEI”' the total (€) 27912 Fi /¢ H
“31!'_‘ “w{fi]w”sﬁ-”ij 946 I,(r-} mﬂ? mDZUM 7 3 s / crore T
2= o L e—— *~---m--..£. __j_] _PEE J (D) ¥ 8,321 S/ crore #
@3, @3 R e
@ TN 3 S e W 18 %72 1le

b, HJ5
.,u 4R IS
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??aaﬁﬁmﬁﬁfﬁ?%?mﬁmm : 27 H-5E e Yo T % 1 AIIA T : 3
liéb:\hht:;?: “l';:ﬁ;t jﬁl the IPEt'm.:m OF ciliaé : % | -T2 &1 ST ECRSING Iﬁmﬁ |
ijical deficit 7 1€ Mighest with respect to : The ratio of discount % and profit % of
(A) 2017-18 the T-shirt is 7 : 5. Find the approximate
Y Tt (B) 2015-16 e
e A€) 2018-10 (D) 2{12{}_1; Cost Price of T—shirt.
- wmﬁ%mﬁmaﬁmmm ! (A) % 2,248 (B) % 2,285
For how :ﬂgnv ye e . i () T 2,167 (D) ¥2,192
gii;lcit to m"i&]ral;é'a hcr‘l'qgswizl'llge islqil:grcngmisga“}
() 2 '
(=. Zﬁ-Sﬂ]WﬁT:lﬁTﬁ‘g‘a ! AD) 3 28. ﬂﬁﬁﬁﬂﬁ?q@%mﬂﬁﬁm
Tﬁﬁﬂ%ﬁﬁ'n&:ﬁ"ﬁ% ‘ﬂ’%‘?wﬂqﬁm 41 5%, ST R AT T % T |
3R = ﬁ%‘?ﬂmmmgﬁﬁm .- If the ratio of the Cost Price of the Jeans
(Marked Price) 3t gg aq"lﬁ'( !Eﬂl::ﬁ W2 3fha o al?d Saree is 4 : 5, find out the approximate
Price) W& | T 559 (Cost discount % of Saree.
:(:Sr'eiguﬁﬁ;ma;dsmdy the following table chart g (B) '4*23%ﬁ
iy answer the questions given (C) 1.32% (D) 19.87%
This following table is rel .
loss and some vaiuc;s al;eeategl 2 oo st and 29 i :
discounts are on the Marke?m;filri E;?‘I.II; :Eg . e offw 1 3t e I % T e
profit are on Cost Price. T 420 7R R ot 9 & sifea He 3ik
g/ || e | s [ o | B fosra oow & e 1 ST T 7502, W W
Article | T | (%) / |54 () | Discount| 7y B 1 Tferera 7 e |
Profit | (%) )
il g LA &)/ If the Marked Price of Jeans is % 420
Cost Marked Selling more than .
Price Price Price % the Cost Price of Shirt and the -
@ ® ® ifference between Marked Price and
3 /Jeans | 2500 - | 3000 - = Selling Price of Shirt is ¥ 750, find the
31¢/ Shirt q;;«ﬂ 30% P - |3 ;, - discount % of Shirt. .
A-72/ - |\a 2875 | 4% | - (A) 20.04% (B) 20.46%
T-shirt I ) 19.76% (D) 18.27%
gz/Suit [2400]| - = - | 2840 E :
; o B
HTS1/Saree “'E&' 20% | 3800 | - = 30. & a}%@ e 3 sif 3
26. aﬁ@m@%ﬁﬂ@ﬂf&ﬂ#ﬁ%@ e o m 4 9 Y=
H;Taﬁiqli id 3” A Iﬁm l Cost Price of Suib i h
If the discount % and profit % of the e | uit is how _nnu«:f
Suit is same, find out the approximate feas ge less than the Marked Price 0
Marked Price of Suit.
) 23478 (B) T2215F (83,49 B) 20%
Sg} T 2,8000 @) T3.871 (€) 27% (D) 29%
His . ©
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32.

33.

34.

ey § e &t

(i) B € (a) 3N

(ii) BEHLa  (b) AT

(iii) TS 1 (c) I

Gv) W@ b () "D

Match the following Maratha Chiefs
with respect to their regions :

(1) Sindhia (a) Indore

(i) Holkar  (b) Nagpur

(iii) Gaekwad . (c), Ujjain

(iv) Bhonsle (d) Barcrdat

(A) (0)-(b), (ii)-(a), (iii)-(d), (iv)-(c)
(B) (i)-(c), (ii)~(d), (iii)-(b), (iv)-(a)
(C) (i)-(d), (ii)-(a), (ii1)-(b), (iv)-(c)
_B) (i)-(c), (ii)~(a), (iii)-(d), (iv)-(b)

Frfafies § @ e g e W afgensi
=1 vEel gR |99 § e T o ?
(A) T (B) smeft

(C) et (D) TR

At which of the following Buddhist sites
women were ordained into the Sangha
for the first time ?

(A) Samath (B) Vaishali

(C) Shravasti (D) Rajgir

iz % ifam 9w wi Fafafes 4 &
THH AR AR ? '

LA A5 (B) 3ufug

(C) AN (D) HTET

The concluding part of the Veda is
known by which of the following names ?
(A) Vedanga (B) Upanishad

(C) Aranyaka (D) Brahmana

g AuE 9 4 Frefafes § @ feg
WO A AR e geif) )
By
LA) @A (B) =tan

(C) Sad (D) e

Mughal Emperor Babyr
Rana Sanga and thejy
the following places ?
(A) Khanua (B) Chay

(C) Chanderi (D) Maiws.r-_la

j had defeated
allies at which of

S | o i i 15
A 1

freferfiga @ & %1 71 1892 % gumil &1
e en 7 o

(A) YT TR 37i=m, 1935

(B) <8 FHT 1945

C) 1909 =1 afteg Frfufrm
]ED} e GeeRT FifufEm, 1919 1
Which of the following was an extension

of the 1892 reforms ? 1
(A) The Government of India Act 1935

(B) The Wavell Plan 1945
(C) The Council Act of the 1909
(D) The Government of India Act 1919

36. 1920 # I WewW % wargg fel H wEe
—  fgm A Rrees gru ST ferE T Al 7

(A) HETeHT T
('(BJ TR T8
(C) TEE
(D) TR ToeTdTE Yo
March in Pratapgarh

The first Kisan !
District of Uttar Pradesh in 1920 was

organised by whom 7

(A) Mahatma Gandhi

(B) Jawaharlal Nehru

(C) Motilal Nehru

(D) Sardar Vallabhbhai Patel

37. AR R v feen @ “gwea
= @ gEel” % AW ¥ W S g,
P PrafaRea 3§ 3 few agEeht sk oo g

T T YT ? |
(A) freem e (B) vawdm ordR
(C) M@ IR _(D) w5f4g 3k
Asirgarh fort located in Burhanpur is
lbmcirm éis “Dﬁan Ltga Darwazza” was

ui which of th '
&f}dl.lsvan};hi Ahir Kin%? eI Wronng

hivdutta Ahir Ishwarsena Ahir

%C) Asa Ahir e

==

ity

(A) mey oy
(C) TR

Motilal  Tejawat
‘ val was a famous
Rti‘:;r::;;nahty uring the Indian National
ment. He belonged to which of the

following regions of India ?

(A) Madhya Pradesh (B

i i s g
™

A i =4

HJs
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39, 2021-22 @ swma # 1319 Fids (ufeafea)
@M &, ¥ @ gl il 263 war Wi
& Frefofm iR o i fRad ¢
(A) He W (B) @l
AC) wEsE (D) Seians
There are 1319 reported mines in India
as on 2021-22, out of these highest 263
mines are located in which of the
following states of India ?

(A) Madhya Pradesh(B) Kamat?ka
(C) Jharkhand (D) Chhattisgarh

40. TrafiRea § Y fred Jge # “HE v
T A ? H
(A) e fég BIs (INA)

(B) et Uil
(C) %ﬁﬁﬁ?ﬁﬁﬂﬁﬁ@ﬁ@ﬁ

IR L i
"

Lt

Lt T T o B

TR0 v

43.

/f‘?):lkc Turkana” is the largest desert lake

i Id, it is situated in which of the
i’gitlj;fv?;%rcountries of the world ?

A) United Arab Emirates gBJ Turkey
© D)

Kenya Oman
e 3 4 e g 1936 H T&e AW
STl S 9 SehTal T STieReT fehaT T 4 7
(A) wTE sy S (B) FeH T
(c) fefe= sifsa (D) %41, wifam
The forest types of India were classified
for the first time in 1936 by whom
among the following _?

(A) Sir H.G. Champion
(B) Jadav Payeng

(C) Dietrich Brandis
(D) E.P. Stebbing

(3w e A i Ik froffg afedi 1 S T % SR T
“Mand; Conspiracy” took place under fhe | %% aprn 5 poas 3 el €
leadership of which of the following ? O 4 (2 anfem ]
(B) GhadarParty . (i) TR (c) BTG
(C) Hindustan Socialist KepUBLES (iv) 9 ¢ (d) I "
Association | _ Match the fqllm;.rll_n ;;:EI?'] gﬁwﬂt?l respe
(D) Abhinav Bharat Secret Society t?)th%( s;:rantlgrsl Em W 1; gl
. : i nastt htra
4. Pfefes & & PR wRdE TSH A e ;2) Chhatisgarh
STeTer & G 16 AT, 1946 ! “TIE ivs H,asge“ v d)if‘?ssl:?m iv)-(a
, (ii)-(c), (iin)-(D)s (V)2
< e e R G a}gﬂ;-ﬁﬁiﬂ'}%
1 , (1)=(a), (L= 0), L2V~
) afeed e _ Di ;-b,ii-c,ihac), w{-,d-
(E]me 45 E‘Ifﬂifﬁﬂ?ﬁ?ﬁﬁﬁﬂﬁi
(C) e fée &I (INA) ' wma@qwﬁﬁﬂémﬁﬁ
= At 3 R sftrg 2, WA 3 TS
i , : i fREe ?
Who among the following hﬂ:ﬂ ﬁﬁmm!m e
celebrated “Direct Action Day” on 167 | (A) [BIEER] (B)
August 1946 during the Indian National C) I@d (D) ,gﬂ Eicl Is of rock
Movement ? Chabimura i8 tanmuslfl'-?::u‘ﬂm]fﬁr:vﬂll on the
(A) The Muslim League cﬂl‘\-’ll'lgf QSET%Sgrﬁﬂi, is located at .;v hich
(B) The Indian National Congress  * }::!“I:cc;hﬁ::wiﬂg states/UTs of [nriilﬂ ¢
(C) The Indian National Army ﬁ A) Sikkim }B% g{;‘;ﬂalayﬂ
(13) Swaraj Party i g(f} Assam [1_"_? it
e “ i - )

—ad
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47. 1981 %%Haftg{wa;mm
—EN mrfor i
Gﬁéﬁ?ﬁﬁﬂﬁﬂs@ﬂnﬁﬁ?

48.

“re e Qi o A A o) s s a7
(A) (B) el

(©) (D) =ief

Which edition of Five-year plan of India
was also known as “Gadgil Yojana” 7
(A) Second (B) First

(C) Third (D} Fourth

The creation of National Bank for
Agriculture and Rural Development
(NABARD) was approved by the
Parliament through which Act of 1981 ?
(A) ffEm/Act 62 (B) saffEm/Act 61

(C) FRfE/Act 63 (D) FRfE/Act 64

mﬁngmﬁﬁﬁmé’rwﬁaﬂﬁq%ﬁm

3 3 freen g SReTier foman T o ?

(A) T e Efii (B) & i

(C) e T B (D) T H

The idea of nationwide GST in India was
m among the following ?

roposed by who ‘
FA}FBThe Raja Chelliah Committee

(B) The Rekhi Committee»
(C) The Kelkar Task Force
(D) The Narsimham Committee

wra #1 g Fwifd & = 1 (1970-1980
5 favg @@ wEFA H AEW

Frerfefraa # | formsh g U8R A fou T
foprz 7y UEE AN WAET q9 (S

e

]

yfen) i Tk @ forer it e T e 7

(A) q‘l:r'ﬂﬂ |9 (7@ §5)

(B) HYH rr’gmﬁf-lﬂﬂ (gfra)

(C) @TE T HY W (THUH)

(D) farva w@re qed

Phase 1 (1970-1980) of the milk
revolution of India_was financed by the
sale of skimmed milk powder and butter
oil gifted by which of the followin
through the World Food Programme ? ¢
(A) The European Uniﬁﬁ?ﬂﬁan EEC)
(B) The United Nations Children’s

© ﬁmd (UNICEF)
L LJ—.'M 1 o 3 .

C) o EU} and Agriculture Orpanisation E
(D) The World Health Organisation (W0 |

50.

51.

52.

83

p—— e P UL

———
)

WTTd & Tafs 2ETerd & JgEe

B Far T o | 3gEEd wHE W (319
) 7 fiiEe o = | g3 0 |

(A) 26 7=, 195048) 28 =1, 1950
(C) 25wafl, 1950 (D) 28 A, 1948
The Supr(?mn: CDEI"I of India %::2
inaugurated on the 1
inauguratim had takpn'_]ﬂ's}-"?]n ﬂ'ﬂ:
Chamber of Princes In the Parliamen

Buildin {Nownld?.
A) 26" January, 1950
B) 28" January, 1930
C) 25™ January, 1950
D) 28" January, 1948
e gEe Usd 4l szt ad 1959 @
e U SEed] v oA | ™
mﬁwﬁwﬁnﬂ%%ﬁﬁiﬁﬁmﬁm

(A) ﬁ (EJ_
AS) @) where the

Rajasthan was the first state
Panchayati Raj System was n‘_np]emented
in the year 1959. In which of the

following districts of Rajasthan it was
implemented first ?

(A) Kota (B) Jodhpur

(C) Nagaur (D) Sirohi

St & et 3 o SR & g o
LEX & fFa TR o 7

(A) G «(B) FU &

(C) Fger % T T (D) fo=an &=
Which bank was not nationalised durin
the Phase I of the Nationalisation of Banks "

A) Dena Bank

B) Canara Bank

C) Central Bank of India
D) Vijaya Bank

Freferitea o & s & e Tswe =t
e wfteg @ arem e & 7

(A) WG T ATHTRA

(B) 3TSIcagy A

(C) ¥EHIT 1 Hrfhe

D) wgifira Y wigy

Vidhan Parishad ? jya Sabha from the
ijmnatinn of members
B% Indirect election

Tenure of membership
Power of impeachment

9
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O e =
ﬁtr%ﬁﬁﬁ ---------- — s e q5-42 7 234 7
%%-q ﬁ'ﬁ:‘ s '_E_l{ XK - e
gl |1 U et R AL K s 13
(A) ﬁgwmﬁmg? T & | 55 qjl f ﬁwﬂﬁ EEEEY 3us™
S e T
VIR ) Ryl FAFAER?
Which % (D) Ry iﬁ[i‘??? (A) Wﬁﬁwﬁ
medicinﬁf the followin H g (C) AB) =1
(A) B e or treMtifg hatheis provide Which of the sflonioel o
(C amboo tree nalaria 7 dwindling resource in t 5 e most 1o
) Eucalyptu (B) Cinchona tr A) Suniig Bewh“le ol
55, A s tree (D) Gi e {C; Adr f ) Forests '
* %aqa = o~ ]l'lkg(} free 59 4R _a_é éa aﬂ'{ DJ Water
(A) %ﬁ[ﬂ;wﬁmﬁmrﬂmﬁ? | ZHﬁﬁlﬁiﬁﬁ[ﬁ“@m
e e o7 25 4 2 ﬁ;waﬂfﬁ;‘aﬁ%
([E) ﬁﬁ%mmwm ?Tﬂﬂwgfﬁ? ’ e fee
tn:ﬁ E"gqulﬂ a;rq—qv?f;:[ our vear
wﬂ ; < 42} gr T 7 aRET and E}inessf g?;ratsheﬁf’mgﬂ age of Dev
at 18 the reason bah. avﬂfage: agﬁ ﬂf DEV D }"Eﬂl”s. [f I'Dd.a
of stars ? ind the twinkling s 25 years, what il 113"351'1 and Chintany
_{A) Scattering of li after 7 years 7 ¢ age of Chintan
(B) Internal g of light by dust partic] AA) 349/ years B
reflection of I e (©) 367 (B) 32 T4/ year
(C) Atmospheri Tl eloues” foears (D) 38 iy
(D) Dis er: eric r:.af‘ractmn of star lighte 60. erferRae G T A years
:p ion of light by water droplets. What will be the value of fﬁllwa‘“?
AT T & 7 3 % dfewe @ (A) 1800 () 963 o ﬁ
(A) T () s 61, Frfrfas § 3 B £€)2400 (D) 2700
(C) FTE (D) FTET. it T3t % 40T % m?aﬂ%ﬁ% =t =t fem
The Directive Principles of Stat g of the followi TQ;TW%
ad : ples e Policy square of 11 i owing doesn’ ?
are adopted 10 the Indian Constitution A) 1+ 1 in terms of sum t express the
om the Consttition of which- EB 3+5+7+13+ of odd numbers ?
f : : ch of the } 1+3+45 17+23+2 !
ollowIng countries ! _{C) 1+ +74+9+11+13 3+27
(A) Ukraine (B) Ireland (D) VAR, 3+1;i5+1?+19+21
(C) Canada (D) USA. 62. +11+1.3+1_5+1?+1T;3é;23¢ -
57. Wﬁﬂﬁ%ﬁﬂ_mﬁm _ T %1 T SR & M arfaarEs
ﬁiww:ﬁﬁiﬁﬁqwﬁ,@q% (A) Girerfin gl i
qmﬁqﬁjfwﬁﬁm%? {C) s (B) Tearftastor »
(A) 10! b el , 2019 [ave. > proces (D) wifEemn
(B) ]nﬂﬂTH‘iﬁﬂq , 2019 gfr,aﬂfndl.umgigglf?mingathi & ok
H‘f » 2 lzln . C GX]dﬂ
4C) 198 G » 2019 63 Cathodizing (B} O
D) | 7t A , 2019 83, 39 vl 2ing (D) Cﬂh’,ﬂnization
w-hlﬁh 3mﬁndmﬂﬂil of the Indian ELp=s 1 9m asting A
W titution %% abolisbed nomination of (A) ﬁﬁwﬂi"gq_ A ded
Qo glo-Indias both the Lok Sabha (B) (ﬁtmfcﬁrl%i%i
and Legislaﬂva Agsemblies 7 ©) 3 {%@m )
{ﬂL] Iﬂlsl ﬂmg]’]dl’ﬂﬂﬂt Act, 2019 {D ﬂﬂ;% :}
(B) 10 th mgndﬂ"ﬂﬂlﬁﬂt, 2019 Gi} (@&T[}
(©) 104" A dment Act, 2019 tad‘-’e namu“ié”}
D |[}'F'"' ﬁlﬂbﬂdmﬂﬂl Act, 2009 A p'-'lh.:s de of the
ﬂf_ ) WL i }(-} "*j‘era.n"“lﬂp inte £ DCERS i -
;I]#ﬁ g i l—"II'IIJU{iHthDHigﬂ oung ﬁa'“s which
. = "“"-----.Jng }U; gﬂrlilizgafinnﬁ
t A L e T dlng ]
" 'Mh Nlﬁ "’M-uém
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patS et wlo€ oo
= 71
1020 4 S0 | SE8/r000

64, T HIFAT / Simplify :

{Q..: x 35 % (5 233 (3 W x 54y

(A) _:—."-_5“1 —B) 3134510

(Cy 315e (D) 314805

zof7 3 wrifivss wlien & 1200 % ftrewan

65.
st % WY 85% R g udiw A 800 %

i

srfresam 37 & Ty 70% 3% Wi fT | |
wfererd

IR o S ﬂﬂmaﬁ % HgH
k“om‘{al‘mﬁﬁ%.?ﬁﬂﬂ?ﬁiﬁ"mﬁ(%}%:
Darshan scored 85% in Prelimina
exam with a maximum marks of 120
and 70% in Main exam with a maximum
marks of 800. If the result is based on
the combined % of the both exams, the
combined %o 18 :
(A)T9% (B) 73% (C)63% (D) 69%
et o SR F W A AR
=7 s FTEM 7

F2-ge @ W EH T 3o, BYe @

66.

68.

ir

<fp) AT yrrdn 9HTE
59« ‘w ' 'dw' . 5ﬂ7 “iwm' ;TE
ﬁﬂﬁwﬁﬁﬁnfﬁmwwmg?
_AA) FTHEA () "ilrge
(C) asftat (D) 44T
70, Fdd wfy &1 %M HiqH TAd 8 9

(]

|
[
|
|

fIf 71. Identify a correct spelling from the
? following © & e
l (A) (oonoisur 10”‘3
i (C) Conoissur (D) (..rﬂ_ﬂﬂﬂlﬁﬂfy_f
F 72.  Which of the IFfif!U'v‘fi”E is not

antonym of ‘R;ﬁﬂ_@

) Maoderate

B) Conservative

(C) Traditional

(D) Fanatic o

73, Give meaning of the following idiom :
‘A man of straw’

(A) influential

B) apuppet . .

Ec-; having no integr

(D) struggling “aIE
paragl‘&Ph and answer the

Read the following

following questions Q. ;?4 sm_d =) oy
The self- ortrait 18 nothing NEW. ain .

photograp ors have @ ways use
themselves a8 subjects. Today. however,
almost everyone walks pr{lund with a camera
in his or her pocket. This 13 because most cell
hones have -ameras on them. The fact that

most people have © | wi

them all the time has led to the rise
a self-portrait usually

selfie. A selfie is
with a cell phone. .
are usually taken on @
end to share these

Since the pictures
&
g—iands and even Strangers

cell phone, many ople t
photographs with

on different social networking websites. Some
king platforms

of the popular social nmetwor
people use to share selfies include Insta

Snlgfﬂct;at and Facebook. People usually take
seffies when they are engaged in normal day-
to-day activities. They take selfies of their
commutes to work or school. People take

selfies of themselves eating. Other people take
selfies to show what they are wearing Or
whom they are hanging out with.

74. s self-portrait a new thing ?

(A) Yes. It is a recent phenomenon.

JB) No. It has existed since long.

(C) Not specified.

(D) Can’t say.

Which social networking platform is not

78,

(A) wfed = 31 + 359
(B) #Adlz = HH + 5

—HC) FGHE = 4G + M7
(D) ¥@n = 4 + 3G

T ey T

mentioned in the passage ?
{:f_‘}} Instagram (B) Snapchat
_LC) Twitter (D) Facebook

HJ5
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_AC) Grand Daughter

7,

D

@SD®

9
&

@ 3 g

%ﬁ%%
TH .

TE R | W, g @mm%r

e e B I L TR 1 g,

------

]
S e e
......................................................

—waum%aﬁl g0, a W i, 2 Fo A I B

a1 8, S &6 B R |

g H1 g

(ASA  Byusht (C)mh

D
Barkha and Chandresh nrt{ﬁﬁmg:

Igiﬂmsh has two children and he is son of
uresh, who is father-in-law of Hansa.
Hansa has only one son. Chandresh is
not son-in-law of Suresh. How Barkha is
related to Suresh ?

B} Wife

(A) Daughter
Daughter-in-law
Feafefes v & &g @ ok 3u% W1g =K

Fresd 1[0, m 3 v Re maE | s Ry e

HUA B T WA R, 9 B IR W
i ¥ = el 2y 8 o7 O o e & TR oY

Iy st & S 1 AR i e <) S s

FC RO e 1 i €9 & S I |
T : $ (oIS WSS & | F1E HEH AT
TR I g E |
fred: I FoEmiEE B E |
. T emiedt se 8 I
I11. ﬁ‘ﬁam&ﬁﬁ‘tn
IV. SI% 9% Fel 181 8 "
(A) Fa1 I T FATR | -
(B) Hael [ IRV HATR |
(C) e 111 ST T8 |

AD) Fa IV FTE FAE | _
In this question, three statements wvm
four conclusions numb I 10,

follow d 1
IMI and IV. You have to take the given

statements to be true even if they seem to be
at variance with commonly known facts and
then decide which of the given conclusions
logically follows from the given statements
disregarding commonly known facts.
Statements : Some trains are roads. No road
is jungle. All flowers are jungles. .

Conclusions : 1. Some trains are flowers.
1I. Some trains are jungles.
[11. Some flowers are trains.
IV. No road is flower.

h

o A1 A1 T HROT B Hd
mmymw%wﬁ@ﬂgﬁh
w7i} & e e GaL HI BT AT E Hey
2 | adi sl H TE IR PR
Preferfiaa o @ @i a1 I R 7 o5
ol 35 e % G %l TE o H GutaT R |
A : e (T Feah, S T8 o T A
%maﬁaﬂaﬁamgﬁy

B: &g an 9 ar I e

k! e S € |
(A) 3fe FoF BT & IR FUT A g

THEE |
(B) 3 FUF A FRVI & 3 FU B yws

e A S —

~4C) HUT A AL B AR |

(D) 9f gt o A 3R B &t ey
HROT & I E |

In this question, two statements A and B
are siven. These statements may be either
independent causes or may be effects of
independent cause or a common cause. One
of these statements may be the effect of the
other statement. Read both the statements
and decide which of the following answer
choice correctly depicts the relationship
between these two statements.

A: Budg%aﬂncaﬁnn for building &
better railway network, e.g., constructing
new railway lines, has increased. '

B : There has been a substantial drop 1n
the number of passengers opting for
air travel.

(A) If statement B is the cause and
statement A is its effect.

(B) If statement A is the cause and
statement B 1s its effect.

(C) If both the statements A and B aré
independent causes.

(D) If both the statements A and B are
effects of some common cause.

A)Only I follows. (B)Only I follows. 2
fcf nmﬁ 111 E}uaws. ED}qnly IV follows. 81. Wity ¥ % forw uget vt suw FHIET
7. o ru et # @ foram wen yma hife ¥ (drodeht) w1 3qEmen s % Frerferaa 3
Find the odd number from given options : | e Tu/hgenft wew o fpar man @ 7
wA)4025 (B) 72]1 &)500] (D)G60%S (A) TG (B) 4w
79, wifie, 2001 1 fobt it i R a1 7 ACT) e (D) T
On W};gl E;_a]l?g of April, 2001 did The First Permanent Aadhaar Enrolment
Wedne: alb"" o ot Centre (PAEC) for Indian Army has
A) 4,115 187, a7 o been inaugurated in which of the
03 204, i g 350 300 (A) Chasdianch (%) Mumbai ﬁ
s - dandigarcn umpa
- 10t 7h 24t EC; L:ln:iukifE fﬂ; New Dellhj
12 é
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85. af 2023 % T;an . xiapd T7g TEEAT
offuy &t =prey arrd |
o ErmapT AT |

e T

aftes @ra Rams witeo gsge g

: 5 :
F 76 290 & @@ Fame st 1 w | (A) e ferermd %
mg—ﬁg% = A1 : o | (B) fagarm w1 T st A
Z | SaNGRAH 7 et fid) | T s 2t e W |
S aiirh f wte g | LS AR SIS T £
- H WE “Hm Waﬂ ﬂ llﬂ i {C_} Ueh 4;;:‘.[:]@ U i ?,’27?"[%11 H
aree ¥ | g Praffea ¥ & fva o A foru wverdeprl FAT | |
T TE & 7 ; (D) amartadl 3 AR & T ons
W ! Name the theme of 78th United Natio
AN (B) %13 : General Assembly for year 2023. b
(C) 3fem - (D) =@ : (A) Cn—{}[ljcrati;'ris for ~ Sustanabie
“SeNGRAH — Safe food for Nations : ®) Deve g trust and reigniting

Global ~food Regulatory Authorities global solidarity- _
(C) A Watershed moment: transformative

Handbook™ is a comprehensive database of 1
Food Regulatory Authorities from 76 solutions to interlocking challenges.
(D) Building resilience through hopes.

countries worldwide. SaNGRAH is available

not only in Hindi and English but also in six i) 2020 F @l

Indian languages. It is not available in which 86. :'EI; ]gi;:ﬁ[ ﬂ:(f{m o= fepu T T

of the following languages o i S 6 ST 1 8 7

(A) Gujarati (B) Kannada R (B) S

(C) et i) Mgt (C) = HaT (D) T HIEw
83. ﬁﬁ%‘%ﬂ_ﬁﬂmﬁﬂwﬁmﬁl What is the tagline for Nav Bharat

Wgﬁwﬁm’%-ﬁ%-? n the celebration of 91 gpniversary Of

(A) TPER ST A e " National Education Policy (NEP) 20207
%ﬁn w&l R (A) Har Jan Sakshar

(C) e TATTIX (B) Jan Jan Sakshar

(D) T FAE : . o C) Jan Sakshar =

Which of the following Union Ministry 'ED:)' Bharat Sakshar™

has recently jaunched the “Scheme for .

Expansion and Modemization of Firc | g7, Fyiiies § & e g @ [BSA e

Services in the States” 7 _ Sl Tl wew AR 7

(A) Ministry of Family and Health Affairs | (A) yRdlE Afeen SRS (gf¥nter)

(B) Ministry of Urban Development Brde dW

(C) Ministry of Defence N .

(D) Minisiry of Home Affairs (B) el e . He  (gfia)
84, @mﬁmmﬁwaﬁw%ﬁ () W e sg (gfRae) e E

foro e v A1 AT G TG A (D) T ey wrse (gfeantin) Feate

TR %51 0 ) v et foen w7 Whﬂq S 1

(A) 631 (B) Gl i{:JSF‘ﬁ (D) 441 o among the following has recently

Which edition of Rashtriya Poshan g:sl:ili g{ﬂ{-i—nﬂqa] at the I.B._SA World
hfish liss boen peaposed by Ministy of (A) Indian Women's Blind Cricket Team~

Women and Child in order to foster (B) Indian Women's Blind Football Team
ﬂUlrlluljﬂnﬂl und::;.:sland:figtﬁumss India? | (C) Indian Men’s Blind Cricket Team ~
(A)6 B) 7" (C)5 (Dy4h - (D) Indian Men’s Blind Football Team

HJS
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88. fm @ H1 26 IO, 2023 W Wl | 91, wrw # g A W el W R
Fan & arnfaa aefiefiel & 599 @ A -
: g g § § e o mama sman & 7
ame gedie W % o amdieled e
{awg; TRadd W FRTHH A AA) 79T (B) 1498
ﬁ@%ﬁﬁ@%lﬂﬁﬁﬂﬁf@ﬂﬁ '- (C) 9 3T (D) 14 g
: ! ! The National Energy Conservation Day
(A) fmTen
(B) ; is celebrated on which of the following
©) W | day .in India every year ?
; | i (A) 7"March  «(B) 14" July
D) |gai ufET
girr:' Skea T: been elected for IPCC ) & {D)” 4~ vy
r
(Intergovemmental Panel on Climate | 92. & FFer foem wR wefin 2w
1 Chai
cycle uri 26 .?llllr}',f Zzﬁgleafeﬂi:nﬁtg“‘aﬁisun;ﬁ; EFI'-EF Eflﬁ]:ﬂ ) -
the IPCC held in Nairobi, Kenya. He belongs L (weefieftel) % aEa T
to which of the following countries ? 2 | T % feia $d [CERENE
(A) United Kingdom A= e g 7
4B) Switzerland : s %
(C) Singapﬂre E E{?;ﬂ:;z}ﬂcﬂ;zg; fF;IT%TuSSIt'?]IETI}f E’:‘:
(D) United States of America. mission under the National Action Plan
89. T@ & ¥, NI FEM A o on Climate Change (NAPCC). In total
22 ¥ fon srge wafwan fof samE | hn;u' many missions were launched
yatear flr & R w, st e ok
qﬁﬁaﬁﬁéﬁnﬁfﬁeﬂﬁ’ﬁﬁ:ﬁjﬁ* = o)
PR g S %?.3 © 7 AD) 8
(A) T (E} -~ 93. W fRH weH (lISc) T T
(€) % D) 1T 1909 # S ek RET, W HhT 3
Recently, the FEuropean Commission Freferfea & @ fow sty & e Th
~adopted its adequacy decision for the el wmgier g & e off ¢
Data Privacy Framework. On the basis of A) FERTE AT
the adequacy decision, personal data can i N ) .
flow freely from the EU to companies of AB) &A1 Yo I
which of the following countries ? (C) Teresh O 2Ten
(A) Germany (B) India (D) Rewifee ”
(C) France (D) US.A. e Tl
- . n 3 .
g0, e A H, e 3 v @ wwH it 0 Sdies NS
ed in 1909 by a
' (WMC 2023) % fopm demtor <t Setar partnership between the M g
27 Family, the Gnvernm:t stm.RﬂFﬂl
()25d (B)263 (0278 (D) 283 which of the following industrigjac?
Recently, Australia has hosted which (A) Kasturbhai Lalbhaj s
edition of World Mining Congress (B) T.V. Sundara
WC 2023) ! th th th (C} }ﬂmsetji NUSS?I‘\I::DI‘IEET
{A}ﬁ_t.,_.f? ok il (D) Dinshaw Petit o %
p——— 14 - TR
a“ : .- . - = ¥ U =
e
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gea/hgieE wew # fRm R 7

(A) THEE (B) feureret wew
() ¥ IMFwR (D) wrer@

“Pangi Valley™ is situated at which of
the following States/UTs of India ?

(A) Uttarakhand

AB) Himachal Pradesh

(C) Jammu and Kashmir

(D) Ladakh,

05, Fiowm § RBm W DRt
fevRer i e eaauaita g ?

@A) TS (B) TR
(C) P (D) diet

96.

9?!

e
_AD) faum aftg

of the following does not j

The Pat Williamson Ground situated in
Kolkata is associated with which of the
following sports ?
(A) Golf -

(C) Football (D) Polo

goamea o awemeg WRa %
Profafas ¥ @ fra T /Fgmfa vew |
Bme?

(A) TEU IR TR ESeh (B) =0

{C) HENg (D) afieTg
Satmalia Deer Sanctuary is located in which
of the following States/UTs of India ?

(A) Dadra & Nagar Haveli

(B) Puducherry
(C) Maharashtra
(D) Tamil Nadu

Srfrfiga 3 & HF | W F TR b

(B) Hockey

ﬁ:ﬂﬁ'%’ﬁ‘ﬂﬁﬁhﬁﬁqﬁﬂwaﬂ_

FATE 7
() T e acea
=g 4]
E?j e T 1 e w % FEif

¥ fratfaa ae=

Which one
constitute
electing th

the electoral _cnlln:gc for

1ed members of Rajya Sabha

Eg% Eizzmd members of the Legislative
Assembly of each state i

(D) Elected members of the Legislative

Council

wﬁma W% ﬁgaﬁﬁﬁqgﬁ " - ﬁ ﬁ’;{ —

94,

)
E e e, garses fhmen A 2 7
(A) fava ifgs dugr E@TE (FE
SR W] ATTATEAIH)
_(B) FgE wgh w@TeT (e
tftersH ATTHTEAIA)
(C) ety T Fofl Toi! (ST
wziftreh TSt T |
(D) @ 3R HfY G1ed (FB U8 Tishean
- FATE)
Which of the following international
organisations ~ is  having  their
headquarters at London, United
Kingdom ?
(A) World Intellectual
Organisation »~
(B) International Maritime Organisation
(C) International ~ Atomic  Energy
Agency =
(D) Food and Agricultural Drganisatigil

99, Frefefes ¥ @ w9 @ s @@ H

Property

TAUT 8 7
(A) Frepifemm (B) 3eRT
(C) "Rt (D) EM

Which of the following is the capital city
of the Union of Comoros 7

(A) Nicosia (B) Accra~<
_{C) Moroni (D) Harare .,
100. Frefrfes & & fred “Fem - =Rf-
T, vimaTTe S yrem-faw W Ew
QAT WG T TR g foral ot 7
(A) e wwwfer  (B) wifeie «
_C) frawperd (D) FegW «

Who among the following had written a
book named “Nirukta — the oldest Indian
Treatise on Etymology, Philology and
Semantics” ? T =

(A) Maharshi Patanjali
(B) Kalidasa

(C) Sri Yaskacarya
(D) Kalhana

v i et s 5554

ke b
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